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Instructions : (1) All questions in Section-I carry equal marks.
(2) Attempt any two questions in Section-I.
(3) Question No. 5 in Section-II is COMPULSORY.

SECTION -1
1.  One product passes through three processes before send to finished stock. The

following information of Dhrumil Ltd. is available for the year ended 31% March, 2021 : 20

Particulars Process-1| Process-2| Process-3| Finished Stock
) ) ) ()
Material consumed | 20,000 30,000 10,000 —
Wages 30,000 20,000 40,000 —
C/o. Stock 10,000 20,000 30,000 20,000

The output of each process is charged to the next process at a price calculated to give a
profit of 20% on the transfer price and the output of process-3 is charged to finished
stock on a similar basis.

Stock in each process has been valued at prime cost. Finished stock has been sold for
% 1,80,000.

Prepare : Process Accounts, Finished Stock A/c and Actual Realised Profit.
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From the above mentioned information’s calculate :

(1) P/V Ratio
(2) Fix Cost (Expenses)

(3) Profit when Sales are ¥ 1,80,000 and ¥ 80,000

2. The following is the information of a business unit :
Year | Sales ) | Profit (X)
2020 2,00,000 20,000
2021 2,40,000 28,000

(4) Sales to earn profit of I 40,000

(5) Break-even Point

The following details relate to Process No. 2 in a factory :

AK-101

Degree of | No. of Cost
Particulars
Completion| Units &4

Opening work in-progress : 600 24,600

Material 50%

Labour 80%

Overhead 80%
Transfer from Process-1 100% 7,600 | 2,73,600
Process Cost :

Material 15,800

Labour 74,800

Overheads 29,920
Transfer to Process-3 (Finished) 100% 7,000
Closing work in-progress 1,200

Material 100%

Labour 80%

Overhead 80%
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Prepare :
(1) Process cost accounts for Process No. 2.
(2) Statement of equivalent units (On FIFO base)

(3) Statement of distribution of cost on the basis of equivalent units.

4.  What is amalgamation of companies ? Discuss the purposes of amalgamation and

distinguish between amalgamation in nature of purchase and in nature of merger. 20
SECTION - 11
5. Choose the correct option : (any Five) 10

(1) In process cost accounts, abnormal loss is debited to
(a) Profit & Loss a/c (b) Trading a/c
(c) Balance Sheet (d) Processa/c
(2)  Which item is not recorded in process accounts ?
(a) Donation (b) Wages
(c) Salary (d) Material
(3) From the following which item is not relevant to process costing ?
(a) Escalation (b) By-product
(c)  Inter-process profit (d) Abnormal gain

(4) In the equivalent production of process account, which statement is to be

prepared to find material cost per unit ?

(a) Statement of Cost (b) Process Account

(c) Statement of Evaluation (d) Statement of Equivalent Production
(5) Contribution =

(a) Selling Price — Variable Cost(b) Selling Price + Variable Cost

(c) Fixed Cost + Variable Cost (d) Selling Price — Fix Cost — Variable Cost
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Contribution = Recovery of Fixed Costs

(a) False (b) True

(¢) Incomplete (d) Can’tSay
Contribution received at Break Even Point (BEP) =

(a) Total Fixed Cost (b) Profit

(c) Loss (d) Total Variable Cost
Net Assets minus Capital Reserve is

(a) Purchase consideration (b)  Goodwill

(c) Total Assets (d) None of these

Both of the old companies will not exist in

(a) Amalgamation (b) Absorption

(c) Internal Reconstruction (d) External Reconstruction
Net Assets + No. of Equity Shares =

(a) Intrinsic value of share (b) External value of share

(¢) Yield value of share (d) Face value of share




